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Choose the correct answer from the
following :

:SI.MR2 wos il PRI A TEO! T ?

7 MR? is the moment of inertia of
5

| (a)

(i) AP Al B TP AR

a spherical shell about its diameter
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(i) CNAPR AN o =opfg AT

a spherical shell about its tangent

(i) CBl G GO JPTI ST

a solid sphere about its diameter

(iv) B! T GBR =opiTT AT

a solid sphere about its tangent

(b) “Tid U GOiR AR @R
Lagrangian of a particle is
(i) fonfe
kinetic energy
(ii) Fefete
potential energy
(i) B ol s Rfoife

total kinetic energy and potential
energy

(iv) sfefe =is Rfofes il

difference between kinetic energy
and potential energy
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(c) Shewm e <o CFfe SR IR A
EyG!
For conservation of angular momentum
of a rotating particle
(i) TR T TS Gk
force is equal to zero
(ii) IR T e 23 AR
force is maximum
i) g WALV z'q @i
torque is equal to zero

(iv) sgefa T s 23 AR

torque is maximum

drpfess AfeFe {5

(d)
In natural prOCESSES, entropy always
(i) 9=F R (6
remains constant
(i) *I
zero
(i) I&
increases
(iv) 21T
decreas€s
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(e) TR Gl B oote SR vt tam

Excess pressure (P) inside a liquid
drop is

@ p=2L
-

(i) P=

N

(i) p=3T
.

(iv) S°RT @Bie 7=y

None of the above

W) Wwﬁ,wmw%@m
RIE R ey
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mﬁ’fe:mwmwwmqﬁaw

(9)
FeiR N

In adiabatic
with change of

(i) G AT
remains same

process, temperature
pressure and volume.

(h)

s law agre
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2. oS Pl RGP widht o Bww w1 . 2x8=16
Answer any eight of the following questions :

(a)ﬂf%wﬁ@wwwmwmﬁm |
kil |

Establish a relation between kinetic
énergy and moment of inertia.

(b) TSl AT BlesRf 59

(©) & T St forgy

(d) G

types of constraints,
each.

(e) 3ﬁa RO Gﬂ%iﬁﬁﬂﬂﬂ¢r

oW | RRLLE 2e
‘Steel is m re .

. ela »
Justify the stateme:tt,lc than rybber.
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Wﬁ?mmﬂﬁﬁqml

is surface tension? Write the

What
sional formula of it.

dimen

sfega ety 62 wite 3@ ot

ultraviolet catastrophe?

(9)

What i
Explain briefly.

ey P o] eEPTR
planck’s hypotheses of black-
radiation.

(h

State
body

() me@ﬁmxmml
Define reversible and irreversible

processes.

G) SOOWW’ -
el 79 o e TSI (°F

S I
fi AR @l WW@TWW
gfered |

rod of mass 500 gm,

A rectangula’

length 80 cm and breac.lth 20 cm. Find
the moment of inertia about an axis
. i centre and

out :
passmg ox.,lgh its
p endicular its length-
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( 8)

Answer any eight of the following questions :

(b)

(c)

22P/443

Find the expression for the moment of

inertia of 5 solid sphere about a
diameter,

Wﬁw@%waq%m%m?@m
«ﬂmmmmm @R F31 Mg
mﬁaﬂwwmﬁ%ﬁwn

What do yoy mean by torque and
angular momentum? Derive an
expression for torque in terms of

moment of inertig and angular
acceleration of g body. -

. Coordinate and
velocity Deduce an €quation of motion
_ov
Ox .
by _usin Lagrangian €quation of
motion,
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(d TAAR sifeRrEr AR IR A @R AR
sjaifea sfe NPT AT 4|

Deduce Lagrangian equation of motion
for a holonomic dynamical system of
particles.

(e) @ﬁﬁzﬁoﬂ%ﬂmﬂﬁm@ﬁmw@

7% Y, n ¥ K BT BT, ToOR BT
o SFe @IIE T

prove that for an elastic body

9 3.1
o+ —

-—
—_

Yy n K

where Yo and K represent Young's
rigidity modulus and bulk
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(9) 9 TF I AW FT@oN AfeFare Fidq oAdm-
qif Sfereat |

Find an expression for work done on

one mole of gas wunder adiabatic
process. '

(h) % P 7 TR el ot 5 @0 <o
T e 37 °C I 100 °C Txw! SIS

I @, o T WA el Toley R
EX N

What is Carnot engine? What do you
mean by efficiency of it? A Carnot
engine works in 37 °C and 100 °C, then

what is the percentage of efficiency of
it?

() AR [T R SR R B AR 399 |

Deduce Wien’s displacement law from
Planck’s law.

4. o1 R @CN PR eiqe Bray -

4x2=8
Write on any two of the following :
(a) TTOl AT Totx Y Tojoiyey
Perpendicular axes theorem of moment
of inertia

22P/441 ( Continued )



( 11 )

(b) G
Entropy

) TR IET Rivsr A

Spectral distribution of black-body
radiation
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